
1 4 [2.3] [ ]
4 3 [1.1.1]  [ ]
4 3 [2.1.1] [ ]

4 3 [2.2] [ ]
4 3 [2.3]  [ ]

4 3 [2.4] [ ]
4 4
4 7 [1.2.4]&[1.2.5] [ ]

4 7 [4.2.1]   3 [4.2]
4 7 [4.2.2]   

2

4 7 2 Allowable (Allowable)
4 8 [2.1.1] 
4 8 [2.1.2] , L>=150m

Permissible
Permissible

UR S1A 2.1c)

4 8 [3.1.1] & [3.1.2] 
Permissible Permissible

4 8 [3.2.2] 
5 1
5 1 [1.1.1] 4 3 2. 5.

5 1 [2.1] [2.2] Qsw: Msw:

KC#788



5 1 [4] Msw:
5 1 [5.1.1] Permissible

Msw( )
Permissible =

Design
5 1 [5.1.2] 
5 1 [5.1.3] 

Permissible)
(Allowable) Permissible

5 1 [5.2.2] Permissible)
[5.1.3]

5 1 [5.3.1]  Permissible
Msw,F( )

Permissible =
Design

5 1 [5.3.2] 
5 1 [5.3.3] 

Permissible)
(Allowable)

5 2 Msw:
6 1 [3.1.5],  
6 2 [3.1.5] 
6 4 [2.1.5] 

Msw: Permissible

6 3 [2.1.3] 

7 2 Qsw : Allowable Msw: Msw

7 2 [2.5.2 ] [2.5.3] 
8 3 [3.2.2] 4 [3.3.2] 4 3 [2.2]

Permissible


